Sr

10

1"

12

13

14

15

Questions

= e oS Jlaxind Caadle 2xy S ek,

2t A G u 0 el S sl s S

= e (S 5l et JeSa,

= edle (S 5l el JeSa,

o R S

S el o 08 e AT S GBI s S,

= CRn (S A,

(=) = e

= NS Cdle (S5 ed e

o L'JL..»S\ Cﬁ‘ Je‘ ATJ

ﬁ'&‘éi ‘:“kw‘d“&.«" I»\_

S S ade @ e o

dé_’em‘m&&a)c_

Answers Choice

A. S
A~ 5
N

IS oS o
j‘Mjb.\\jleer:liul
il (S 5lpes JaSa
35 oS o

oS S
S A
S A

S B
A

oW UO® P UOWP DOWP UOWP U0Wr UO0WP 0OWP UOmP 0OmP U0WP U0WP DOWP UOmP 00w



16

17

18

19

20

21

S e o 58 e AT S aa ol Ul O S saal,

S A e (S e B G 2 I A,

a A Gl o S s pi alea S G,

S Nade o S5 63 g ol

o e e 08 S S e sl S i (530 K4,

b Ep

DOm> DOW
B
(v

b

€.
E.

OW» COUP DOW
(5 '



